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Prototype O6PbSb2

AFLOW prototype label A6BC2 hP9 162 k a d-001

Mineral name rosiaite

ICSD 81387

Pearson symbol hP9

Space group number 162

Space group symbol P31m

AFLOW prototype command aflow --proto=A6BC2_hP9_162_k_a_d-001

--params=a, c/a, x3, z3
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Other compounds with this structure
MnSeTeO6, MnSnTeO6, PbTeGeO6, SrIr2O6

• This is the ternary form of the L′32 (β-V2N) structure.
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B5 = x3 a2 + z3 a3 = 1
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B6 = −x3 a1 − x3 a2 + z3 a3 = −ax3 x̂ + cz3 ẑ (6k) O I
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B9 = x3 a1 + x3 a2 − z3 a3 = ax3 x̂− cz3 ẑ (6k) O I
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